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Predicting Products of Chemical Reactions {

Directions: First write the pames of the products on the lines provided, translate the
word equation to chemical formulas, then balance. Don't forget your DIATOMICS!

Synthesis- a chemical change in which two or more substances react to form a new single
substance

Example; Iron + sulfur — iron () sulfide
8Fe + S, — 8FeS

1, Magnesium + lodine — MoUHEYIUM \Ud\dl—
Mg+ T M%”r&

N

Postassium + Chlorine — PO‘}(]SSJUM Chlonda
A+ Cy = Q2 XC\

3. Aluminum + Oxygen —___ o luminum oXide

YAV 130, S Aly0,

4. Lithium + Nitrogen — _ }Ahium ﬂl-f‘(lhd,L

5. calcium + oxygen — CG\UUTY’\ OK‘I(u_

L0 v Oy =300

6. sodium + iodine — SOdlUm l(dedL
A No + Ty —52VaT

M



Di?ncc[,;p?sclitlo?- a chemical change in which a single compound breaks down into two or more
simpler products. Example: 2H,0 — 2H, + O,

( 1, Calcium sulfide — CQ‘\( WM + S\)\ {:\, @
S » G + S
2. sodium chioride— %OQSNN\ + C h\(/ i AL At
LNy
AN e
QN&U - JINa 4 C\y Q;f"
o
@ strontium nitride— \sﬂ onfidM + N 1ﬂ£’0}/ - -t +
' Y WA _T: ‘*\"*‘
S r3 N 3 b 3 % g ¥ N 3 % “‘1(;2/{,’.3}\)
4. barium phosphide — DAV N + Ph()f{l)hﬁ res

BogPa > 38a TP

5 nickel(lt) fluoride — ni e + ]Cluam\/i—

N Fa - Ni t ra

63 aluminum oxide — (}\ummum + OX oL V-

QA0 - YA +30,

Single Replacement- a chemical change in which one element replaces a second elementin a
compound. Example: 2Na + H,O — H, + Na,O

1. Sodium + Magnesium chioride .-¢ wdlbm Chlor 17 +  Mlghtitym

2 Nat Mﬂ\“a > ANar ¥ Ma

i{«\ Calcium + Sitver chloride — C&\C\Um C\'\\U‘-\u + Sl\\fff

Cu’rSZP\3U - CaCly 41%%_

(n _
3. Copp;r)+ iron (I') sulfate — QO??C( f\l) SUlfGlI’f, + L on

Cu * FeS0y o  CudS0y ¢+ Fe
15




4. (Sodium + hydrogen hydroxide — SDANN\ h\ld Xy M + h\\dfacu,%

J
ANo rdN0H = ANaOH + Hy
, (u)

5. iron® "+ Lead (If) nitrate— I(Oﬂ LH\ m‘ﬂﬂk + ‘(’CA&
Fe o+ Po(R); = Fe(W0), 4 Pb
(0

Copper + Aluminum sulfite  — CU\)O&( (H\ SUH\ )‘E__ + Q\U\“iﬂu A
-

3Cu A\a(goba >3CuS0y A1

Double Replacement- a chemical chan
compounds.

6.

ge involving an exchange of positive ions between two
Example: Pb(NO,), + 2KI — Pbl, + 2KNO,

1. Cailcium chloride + potassium carbonate—s

Ol Cubonak . e FSSwm (hleide,
Cola + Yally 5  (o(py +LKClg

barium chioride + potassium phosphate —__ Dt 1UMY Dhﬂ D\\M—C . DO"HSSI um (N6 s
3800 +draPoy - B%(Poq); r pLC

aluminum sulfite + potassium hydroxide—  (\yninum h\{dw\(!fﬂ_ + \H{ISSIUM SUJ/I

M,(503)3 +l KOH > & Alon) s r3ka503

4. iron (IV) chloride + copper (II) sulfate —  Tvo W\ SU\FG ie + {‘[«pp{rr ( H)( h/ﬁf ‘(LL
Fe Cly, RS0y = Fe(SOyds 4 dCuCly,

5. silver})fnitrite + sodium bromide — i\\\ﬁ( \)(i‘m!(v- +_ Sedium nitride
Aamga + NaBy - Q%B: 1 NaNo,

6. cobalt (Il iodide + barium iodate — (‘Gbm" (m\ 10&&1{, +_Dlivm 1odida,
2 CeTn *BB%(IC@; %Q\CG[\OQB F 3T

a\s




When balancing: 1. Count carbons, 2. Count hydrogens.

1.

CGH12

2. Q CH,

combustion- when a hydrocar
Example: 2C.H , + 70, — 4C0,

-i-QO2

+ Wl o,

3. ) et o, o

+ 3o,

bon reactions with O, to form CO, and H,0.
+ 10 H,G

v

3. Count oxygens.

. b (04 b 10
L 80 . yiso
P T
L 4003 . &H30
R Coa _AH6
L 3C03 . YHs0




Predicting Reaction Products

Balance the equations and predict the products for the following reactions:

B Na+__ Femr> 3N0Br ¥ Fe
2) _za_NaOHn__stom Naz You Ao

3) CHO+ 3 0, 1 (O3 1AH0
A N0

5) ____PbSO4+lAgNO3~) ?b(mo-ba v P\%Qﬁq
6) _Q_Piarae AP +3%c,

7) A_HBr+____Fteth~} Fe By + Yo

8) Q_KMnOu ZnCly > a YCY ¢ Zn(ManB}
@) ___ MnGC+____ Sn(OH) = Mn(mﬂq + SnCs

10) ] 0o+ ___CHu0,> S Co, #HHaC

M) H0p > Ha +0O 4

12) ___PtCk+r__ Cb>  PiCly t 4
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